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SECTION - A

| N 0 O 0

i) General Awareness

Setting a Supreme Court was Calcutta
is a part of

(A) Regulating Act of 1773
(B) Pitt’s India Act of 1784
(C) Charter Act of 1793
(D) Charter Act of 1893

Which country was NOT a part of the
Triple Entente during World War | ?

(A) Russia
(B) France
(C) Austria
(D) United Kingdom

What is the name of the lander that was
part of the Chandrayaan Il Mission ?

(B) Prateek
(D) Vikram

(A) Pragyan
(C) Chandru

Kwashiorkor disease is caused by the
deficiency of which of the following ?

(A) Vitamins (B) lodine
(C) Protein (D) Fibre

The Employee’s State Insurance
Corporation (ESIC) has tied up with
which bank for Direct Benefit Transfer
Facility ?

(A) State Bank of India

(B) Punjab National Bank

(C) Indian Post Bank

(D) Corporation Bank

6.

10.

Lake Tanganyika is situated in
(A) Africa

(B) Asia

(C) North America

(D) Europe

Which of the following is NOT chemical
weathering process ?

(A) Oxidation

(B) Carbonation

(C) Hydrolysis

(D) Thermal Expansion

The Bada Dashain is the biggest festival
of which country ?

(A) Bangladesh
(B) Bhutan
(C) Nepal

(D) Maldives

In what year did Mahatma Gandhi return
to India from South Africa ?

(A) 1915 (B) 1916

(C) 1919 (D) 1925

The BrahMos Missile was developed by
which countries ?

(A) India and U.S.
(B) India and Russia
(C) India and Israel
(D) India and France
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11.

12.

13.

14.

15.

Leamer’s Licence is a temporary licence
valid upto”

(A) twelve months
(B) three months
(C) six months

(D) nine months

Application for the grant of learner’s
licence in

(A) Form-3
(C) Form-—4

(B) Form-—2
(D) Form-5

If a person attains the age of 50 years
then the licence is renewable for a
period of

(A) 10 years
(B) 6 years
(C) 4years
(D) 5 years

The driving licence system was first
introduced in Great Britain in the year

(A) 1903 (B) 1901
(C) 1902 (D) 1904

A driving licence to drive a transport
vehicle is valid only for

(A) 5years
(B) 7 years
(C) 40 years
(D) 3years

16.

12;

18.

19.

20.

The application shall be made for the

. renewal of driving licence as per the

Section 15 of MV Act, 1988 shall be
made in

(A) Form9
(C) Form 16

(B) Form 10
(D) Form 18

The certificate of registration of a non
transport vehicle is valid for a period
of

(A) 15 years
(C) 25 years

(B) 20 years
(D) 30 years

For the permanent registration of the
vehicle the application Form was in

(A) Form No. 16
(B) Form No. 17
(C) Form No. 18
(D) Form No. 20

For the permanent registration of the
vehicle the original sale certificate from
the concerned authority is in

(A) Form No. 16
(B) Form No. 21
(C) Form No. 17
(D) Form No. 22

For the permanent registration of
the vehicle the certificate from the
concerned body builder is in

(A) Form No. 16A
(B) Form No. 22A
(C) Form No. 17A
(D) Form No. 18
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(A) 1038

(B) 634

(C) 4=d

(D) 534

=TeTeh eTgad Jomet e fse 3 veeft sre
. HYRHITE

(A) 1903 (B) 1901

(C) 1902 (D) 1904

Ueh UREEA F1e 1 SeT o1 =Tl aisad
Fad * fu A B € |
(A) 534

(B) 73

(C) 40=d

(D) 3=d

16.

17.

18.

19.

20.
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(B) WiH -10
(D) Wit - 18
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(8) 2098
(D) 3099
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T o |
(A) SH =T 16
(B) i H&=AT 17
(C) wiH TET 18
(D) ®IH T&AT 20

(A) HiH -9
(C) it -16

(A) 1599
(C) 2549

STEH % TS UsiehtY 3 ot fershl srmor
Geifea e 9 FRETR |

(A) Sd TETT 16

(B) i Hwam 21

(C) Hid TET 17

(D) Hid gE 18

e TATE TSl B SHIOS Heifid
e HBar g |

(A) HH TET 16A

(B) iH H&IAT 22A

(C) wid H&am 17A

(D) iH T 22
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21

22.

23.

24.

25.

In case of transport vehicle the certificate
of registration is valid only if it is
accompanied by the fitness certificate
is in

(A) Form 38
(C) Form 18

(B) Form 28
(D) Form 48

When the vehicle has got transferred
in the new owner, he must inform the
insurance company within a period of

(A) 10 days (B) 12 days.
(C) 14 days (D) 16 days

Application for transfer of ownership
must be made in

(A) Form No. 39 & 40
(B) Form No. 19 & 20
(C) Form No. 29 & 30
(D) Form No. 49 & 50

The owner/driver of the vehicle must
report the occurrence of accident to the
nearest police station within

(A) 6 hours
(B) 12 hours
(C) 24 hours
(D) 3 hours

If the registration certificate is lost or
destroyed; an application must be made
to issue the duplicate certificate in

(A) Form 28 (B) Form 16

(C) Form 26 (D) Form 18

26.

27.

28.

29.

30.

31.

1 O 0 OO 0

No national permit shall be granted to
any goods vehicle, other than multi-
axle, if the vehicle is older than

(A) 10 years (B) 20 years
(C) 15years (D) 12 years

International day of non violence observed
every year on

(A) September 22
(B) October 2

(C) October 23

(D) None of the above

Nobel award-2018 in physics, awarded
to the scientists for their contribution in
the field of

(A) Nuclear physics
(B) Laser physics
(C) Astrophysics
(D) Acoustics

RATES : ENGRF : : DWELT :
(A) RYJYM (B) QJRYG
(C) RJMKN (D) PRSTA

Find odd man out 3, 5, 7, 15, 17, 19.
(A 17 (B) 19
(C) 7 (D) 15

2tan30°

1+tan®30°
(A) cos 60° (B) tan 60°

Value of

(C) sin 30° (D) sin 60°
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(C) 14f= (D) 16fe=
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(A) d BT 39 3R 40

(B) Wid §&AT 19 3R 20

(C) ®id §&AT 29 3R 30

(D) HiH TEAT 49 371 50

HTfeTeh /=TeTa i gHed it ga fse &
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(A) 6%

(B) 1272

(C) 24

(D) 3%
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il ¥ fopan ST = |

(A) ®id 28 (B) Wi 16

(C) % 26 (D) w0 18

26.

ars

28.
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31.
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(A) 10=d

(B) 2098

(C) 1534

(D) 124

i tfea feam v ad 9 w=mn
ST e ¢

(A) 22 faast

(B) 2 3T

(C) 23 3maET

(D) 3% H 3 HIE T

ffeehit 1 Fioe TEFER-2018 ATHHI
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(A) iR sfashi

(B) oI wiifershi

(C) @ma sifash

(D) &@&fA

RATES : ENGRF : : DWELT :
(A) RYJYM (B) QJRYG
(C) RJIMKN (D) PRSTA

wau frE gfe 3, 5, 7, 15, 17, 19

(A) 17 (B) 19

(C) 7 (D) 15
218[1;30 : 'ﬂ:-fm:f%

1+tan” 30

(A) cos 60° (B) tan 60°

(C) sin 30° (D) sin 60°
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32.

33.

34.

35.

36.

37.

If the sum of 3 consecutive numbers is
183, then the numbers are

(A) 60,61,62 (B) 60,62, 64
(C) 58,60,62 (D) 59, 60,61

The ratio between the speeds of two
trains is 7 : 8. If the second train runs
400 kms in 5 hours, the speed of the
first train is

(A) 10 km/hr
(B) 70 km/hr
(C) 50 km/hr
(D) none

A tangent PQ at a point P of a circle
of radius 5 cm meets a line through the
centre O at a point Q so that OQ = 12 cm.
Length PQis

(A) 13cm
(C)

(B) 8.5cm

119 cm (D) 12cm

If the distance between the points (3, -2)
and (-1, a) is 5 units, then the value of
a>0is

(A) -5
(C) 4

(B) 3

(D) 1

The roots of the quadratic equation

2x2-22 x+1=0are

(A) 1,1 By =1=4
e (A

© Zr O 5%k

A cubic equation whose roots are -1, 4

and 6 is

(A) X3 +9x2—14x + 24
(B) x°—4x2+4x + 1
(C) x®—9x% + 14x + 24
(D) None of these

38.

39

40.

| 00 0 O 0O 0

What number should replaced the
question mark ?

(A) 2
(C) 4

If = means <

A means >

[6] means >

X means =

O means <
thena+bplc+dXa+h
(A) bzc (B) b>h
(C) c+d=a+b (D) a=h

Five cities A, B, C, D and E connected
by roads as shown below. Design a
route so that a person travels on all the

six roads only once.
B

D
Which of the following is true of a route
that satisfies the above condition ?
(A) The route starts from E
(B) The route starts from B or D
(C) No such route exists

(D) The route starts from A or C



32.

33.

34.

35.

36.

37.
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HEGUIESIEIRISED 7:8% 3R
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41.

42.

43.
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ii) General intelligence and Reasoning Ability

Some terms in the series are missing,
which are given in the same order as
one of the alternatives. Choose the
correct one.

Z_25YB23XC_W _19_E17.

(A) A,21,D,V

(B) A 27,C,V

(C) X,21,C,W

(D) X,27,F, W

Introducing Asha to guests, Basker said,
“Her father is the only son of my father.”
How is Asha related to Basker ?

(A) Daughter (B) Mother
(C) Sister (D) Niece

Statements : No tree is fruit. All fruits
are stones. All stones are rains.

Conclusions :

|. No stone is tree.

Il. No rain is tree.
Ill. Some rains are fruits.
IV. Some rains are trees.
Which of the given conclusions logically
follows from the given statements ?
(A) Only either Il or |l and | follows
(B) None follows
(C) Only either Il or IV and il follow
(D) All follows

44,

45,

46.

In a certain code PEAK is written as
‘3512" and DINE is written as '‘6895’.
How is KIND written in that code 7

(A) 2396 (B) 2986
(C) 2896 (D) 2596

A, B, C, D, E and F are cousins. No two
cousins are of the same age, but all
have birthdays on the same date. The
youngest is 17 years old and the oldest
E is 22. F is somewhere between B and
D in age. A is older than B. C is older
than D. Then which of the following is
not possible ?

(A) Dis 20 years old

(B) Fis 18 years old

(C) Fis 19 years old

(D) Fis 20 years old

Vinay starts walking towards East. After
walking 35 miles, he turns to his right
and walks another 40 miles. He then
turns right and walks another 35 miles.
Finally he turns right and walks 20 miles.
How far is he from the starting point and
in which direction ?

(A) 20 miles, North

(B) 35 miles, South

(C) 20 miles, South

(D) 35 miles, North
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Z_25YB23XC_W_19_E17.

(A) A 21,D,V

(B) A,27,C,V

(C) X,21,C,W

(D) X,27,F, W

ST 1 WA & firerard gu st 3 e
“r MRS FAa @ |
HrER § fohe Wohr getoa @ 7

(A) it (B) =l

(C) = (D) wwitsht

YA : IS I& FA ol & | Bl B U T |
oeft gear i § |
e
| IS Jeer & e & |
Il PRI FATE < |
Il FSTNEAE |
V. FSINFEE |
fou gu e # & - fred o =
ST FA € ¢
(A) 3t 31131 11) 3R | ST e &
(B) S TR T el
(C) Fmaaar 1AM IV 3R 11| SFEwI R
2
(D) et SFEI A ©

44,

45.

46.
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TF %2 H PEAK i ‘3512’ 31 DINE &I
‘6895 for@n wTaT 21 39 2 ® KIND =
g e smom ?

(A) 2396

(B) 2986

(C) 2896

(D) 2596

A, B, C, D, E 3R F =<t wié-wea & | foreelf
21 = TS s <1 oft 37w e R, Wy
ooft = e v # fafy =t vgar 2 | e
B 17 99 o1 3T gad 991 E, 22 99 1
2IAPHFFE BMDFHA=E 1A B
A= | C, DT R, @ Ffofaa g &
F G TE © 7

(A) D208 F12
(B) F1gai & 2
(C) F19ad &I 8

(D) F20a§ 12

foma @ it ST g Y& =T 2| 35 Hid
=T o 918 98 314 S 40 Hiet 37 =eFell
1 ot 712 and gea 35 it 7R =T 21
3{d: 9% 3T geaht 20 Wil =il 2| 98
aifers foig & forer fem H o et e 2 7
(A) 20 e, I
(B) 35 Hie, afaror
(C) 20 Hi=, afem

(D) 35w, I
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47.

48.

49.

50.

What is the sum of first two even natural
numbers out of a group of 5 even natural
numbers ? '

Statements :

|. The 2" number is double of the
15! number.

Il. Allthe 5numbers are consecutive even
numbers.

Which of the statements are sufficient
to answer the given question ?
(A)
(B)
(C)
(D)

statement | alone
statement Il alone
statements | and |l together
neither the statement | nor Il

In 10 years, A will be twice as old as
B was 10 years ago. If at present A is
9 years older than B, then the present
age of Bis

(A) 19 years
(C) 39 years

(B) 29 years
(D) 49 years

Lakshman went 15 km to the West from
my house, then turned left and walked
20 km. He then turned East and walked
25 km and finally tuming left covered 20 km
How far is he now from his house ?
(A) 15 km (B) 20 km

(C) 25km (D) 10 km

‘Page’ is related to ‘Book’, in the same
way ‘Leaf is related to

(A) Root
(B) Green
(C) Tree
(D) Forest

51

52.

53.

OO0 O

Select the related word from the given
alternatives.

West : North-East : : South : ?
(A) North-West

(B) South-East

(C) North

(D) East

Out of four persons Arun, Bharat,
Chandu and Dharma, two are interested
in hockey, two in cricket, two are painters,
one is a singer and one is a dancer. Each
young man has one outdoor interest and
one hobby concerned with fine arts.

I. Arun is neither a painter nor does
he play hockey.
[l. Bharat does not dance.
Ill. Dancer plays hockey.
IV. Bharat and Dharma do not play
cricket.

Who among the following plays cricket
and is interested in painting ?

(A) Arun
(B) Chandu
(C) Bharat

(D) Bharat and Dharma

A is father of X, B is mother of Y. The
sister of X and Z is Y. Which of the
following statements is definitely not
true ?

(A) B is the mother of Z
(B) X is the sister of Z
(C) Y isthe sonof A
(D) B has one daughter



47.

48.

49,

50.

A43-

5T YTFHich TEAT3 o Uk g § ugel!
2 TN YIHfos SEedi H M R |
hdA

| Zad we vEel i S 2l

Il. @t 5 EEaTd FHHTTE T HEA B
fou e g 1 W A F fow B R
i E 7
(A) Fac HH |
(B) Faet HeH ||
(C) ¥ | 3T || T T1y
(D) A F [T& I

10991 §, A%l 311g 1094 @@ Bl 91
#i et anfhl aff A H A BR 9 ad
F21 &, @ B I 37 R

(A) 1939 (B) 2934
(C) 39a (D) 4994
wHemo 1R Y 15 et ufvem § e 2,

Tt =l gea 20 ot 9o 2| fRae @
g 25 forft =etan @ ofit ofda: amd
et 20 Tt I 21 97 o7 379 R A
Rt e ?

(A) 15 feredt (B) 20 forrdt
(C) 25 Ferrt (D) 10 feft

T3’ R o 36T YRR Fe e e v
N A EeRE R

(A) S8

(B) &0

(C) &

(D) =

of.

52.

53.
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faw e fereredt @ geifer veg g
9feem : IS : ; gl ?

(A) ITR-ufT=m

(B) afEmr-gd

(C) 3@

D)

IR Sfaaat 370, 9T, 95 IR ani A |t

T F ety ), < s o, @ e 3,

T A% & 3T T 7% © | T ga1 hl

U STedt 79 2 3R U w4 Sfera serned

T2 .

. 3o v fomrem e 8 ofR =i T
e |

Il 9% JredT T2 R |

I, i gl Wetan 2 |

IV. 9d 3R uni frene 78 @ |

frfafaa § @ @ fede Qaar ? 3R

fewdid s a7

(A) 7=

(B) 3

(C) W

(D) Ta 37 emi

A X#Targ, B, YFiaia 2| X 3T Z &t
FEA Y 2 F=fafes § @ #9-a1 599
fffassa g adig ?

(A) B, ZHiTmr?
B) X, ZH T2
C) Y, AT IR
(D) BT T @
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Select the related number from the
given alternatives.

42 56 10 ?
(A) 132
(C) 140

(B) 136
(D) 18

There are 50 students admitted to
a nursery class. Some students can
speak only English and some can speak
only Hindi. Ten students can speak
both English and Hindi. If the number
of students who can speak English is 21,
then how many students can speak Hindi,
how many can speak only Hindi and how
many can speak only English ?

(A) 39, 29 and 11 respectively

(B) 37,27 and 13 respectively

(C) 28, 18 and 22 respectively

(D) 21, 11 and 29 respectively

Statements : Some blankets are beds.
Some pillows are blankets. All beds are
pillows.
Conclusions :

I. Some blankets are pillows.

Il. Some pillows are beds.
lll. Some beds are blankets.
Which of the given conclusions logically
follows from the given statements ?
(A) Only either | or |l follows.
(B) Only | and either 1l or Il follows.
(C) Only lll and either | or 1l follows.
(D) Al Il and Il follows.

57.

58.

59.

60.

61.

Find out the missing number in the
series 101, 100, ?, 87, 71, 46

(A) 92 (B) 88
(C) 89 (D) 96

In a code language, if BEAT is coded as
5642 and SWEET is coded as 66912,
how would you code TEASE ?

(A) 96162 (B) 56264
(C) 96625 (D) 55296

‘Shoes’ is related to ‘Leather’, in the
same way ‘Rubber’ is related to

(A) Plastic
(B) Polythene
(C) Latex
(D) Chappal

A is the brother of B, C is the brother of
A. To establish a relationship between B
and C, which of the following information
is required ?

i. Genderof C

ii. Gender of B
(A)
(B)
(C)
(D)

only i is required
only ii is required
both i and ii are required

neither i nor ii is required

Which of the following words will come
at second position if all the words are
arranged alphabetically ?

(A) Arrangement (B) Arrest
(C) Arrears (D) Arrival
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few T Feredl @ e g gl
42 :56: - 11057
(A) 132
(C) 140

(B) 136
(D) 18

U FU e 7 50 farenfia = vaw fean
T | F© feneff Fae osh aie g §
3 %o Fact fédt o gha § | 5 faneff
Tt 3fi & 3 et wekd @ | 3fe o7
el g a1 faenfo i g 21 8, @
fore ferenefi fedt e wehd 8, fofad g
f&dt i foram Fhae s S g & 7
(A) I 39, 29 37 11
(B) | 37, 27 371 13
(C) HuT: 28, 18 3 22
(D) TEST: 21, 11 3R 29

U : TS FAA T © | TS qIHY Helel
2 | ot oo afeee |
e

. TS Hact i g |

Il. F qfehy Tem & |

lIl. & I FHae 2 |
Fafafea i@ #m - 3 Femd Ry et
H ¥ afcheh ®Y F FHTT A & ¢
(A) IS TN 1T || IO FET R |

(B) Fa@ AT | al AT IT A | AT
FAT 2 |

(C) =5 Il ST AT | 3TN || STFEROT
2

(D) =Rt 1, 11 3TN ST FA E |

S7.

58.

o9.

60.

61.
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SfEe 1 e G 91 |
101, 100, ?, 87, 71, 46

(A) 92 (B) 88
(C) 89 (D) 96

o e AT H, I BEAT %1 5642 F €I H
e, a1 ST & 3Tt SWEET i 66912
¥ Feag [ ST ®, a1 379 TEASE &
Y s B 7

(A) 96162 (B) 56264

(C) 96625 (D) 55296

S, TR’ W 34w wafyd € e v
@ Y gafuq 2

(A) wfe®

(B) ufefef

(C) o=

(D) I
A,BFIYVER, C AT IERIBIMNCSH
o9 U Gay TTfud & o fore fafafay

¥ @ F-H gEa i T ?

i. C®fem

ii. B fem
(A) Fae i Fifed

(B) e ii Fifed &
(C) i 3 ii I Fifdad
(D) AT iianfea 2
FuimTen & uR A wedi 1 Eferd
F | frefafad 3§ @ F9- wes g
TIH 9T AT Y

(A) Arrangement (B) Arrest
(C) Arrears (D) Arrival
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Among five boys, Vasant is taller than
Manohar, but not as tall as Raju. Jayant
is taller than Dutta, but shorter than
Manohar. Who is the tallest in the group ?
(A) Raju

(B) Manohar

(C) Vasant

(D) Cannot be determined

Three of the following four pairs of alphabets
and numerals have same relationship
between their elements as in the case
of the pair PROBLEM : 2948375 and
hence form a group. Which one does
not belong to the group ?

(A) BORE : 8497
(B) EROL : 7943
(C) MOEP : 5972
(D) OMEP : 4572

A is sister of B. C is brother of D. D is
sister of A. How is B relatedto D ?

(A) Brother

(B) Brother or sister
(C) Sister

(D) None of these

In a row of 40 boys facing the North,
Amar is 6 to the right of Sandeep and
Sandeep is 11" to the left of Vijay. If
Amar is 28" from the right end of the
row, what is the position of Vijay from
the left end of the row ?

(A) 17t (B) 21t
(C) 20t (D) 18t

If day after tomorrow is Saturday, what
day was three days before yesterday ?

(A) Sunday (B) Monday
(C) Thursday (D) Saturday

67.

68.

69.

70.

71.

fA+E=B+D, A+B>C+E, A+D=2B,
C+E>B+D,then

(A) A>B>C>D>E
(B) C>B>D>A>E
(C) C>B>A>E>D
(D) C>A>B>D>E

Choose the one pair which does not
belong to the group ?

(A) 1:4 (B) 10:24
(C) 8:18 (D) 22:46

In a certain language ‘pre not bis’ means
‘smoking is harmful’, ‘vog dor not’
means ‘avoid harmful habit’ and ‘dor
bis yel' means ‘please avoid smoking'.
Which of the following means ‘habit’ in
that language ?

(A) vog
(C) dor

(B) not
(D) bis

Find the missing number from the
responses given below.

16Y12 21Y9 10Y?
14 15 16

(A) —21
(C) 32

(B) 12
(D) 22

In a certain code, BREAKTHROUGH is
written as EAOUHRBRGHKT. How is
DISTRIBUTION written in that code ?

(A) TISTBUONDIRI
(B) STTIBUONRIDI
(C) STTIBUDIONRI
(D) RISTTIBUDION



62.

63.

64.

65.

66.

-17-

uig oesh 8§, 990 FHe ¥ o9 8, Wy
1] forae e =& ®1 g9 a9 e ©
‘%igm‘lﬁ@ﬁa%mq@ﬁw@émaﬂq
(A) T

(B) TR

(C) =@d

(D) Trwifia =2 T sn w=a

el 3 HEnet & ww Wi § | fF
PROBLEM : 2948375 &I @& U& ga9
TG & ST 9 WeRT Uk 8 SHTd & | 7
| FH-91 39 T H T 377 ?

(A) BORE : 8497

(B) EROL : 7943

(C) MOEP:5972

(D) OMEP : 4572

ABRTARC,DFIERID, AH
FE1 21 B, DU form ywn gt 2 ?

(A) g

(B) TS a1 =&

(C) &=

(D) 78 @ HIE T

I 1 I qW TR 3T 40 T=H K T
ufed H, 379 G21T ¥ 210 BT & T
forsmr o amd 11 a1 81 3fe sy dfer & and
37d ¥ 28 9 &, 1 ufda & and o5q 4 fa=
FHH-TTEIER ?

(A) 173 (B) 214t

(C) 204t (D) 184f

Ife gt wifHar 2, & %o @ i R wee
Ffeaan ?

(A) TEar
(C) TEaR

(B) dHa
(D) WHaR

67.

68.

69.

70.

.
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IRA+E=B+D, A+B>C+E A+D=2B,
C+E>B+D,d

(A) A>B>C>D>E
(B C>B>D>A>E
(C) C>B>A>E>D
(D) C>A>B>D>E

o8 3 YT St gy # 7E o |
(A) 1:4 (B) 10:24
(C) 8:18 (D) 22:46

TS 97T H ‘pre not bis’ %1 34 ‘smoking
is harmful’ , ‘vog dor not’ &1 374 ‘avoid
harmful habit’ 3T ‘dor bis yel’ T 319} &
‘please avoid smoking' | F=fafga o &
34 w1 | ferarr 319 “habit’ BT 7

(A) vog (B) not

(C) dor (D) bis

2 f3u o 3 H | e T §1d w1
16 12 21 9 10 P
3
(A) —21 (B) 12

(C) 32 (D) 22

% % H, BREAKTHROUGH
EAOUHRBRGHKT ferarsman @ | 38 2
% DISTRIBUTION & feran s 7

(A) TISTBUONDIRI
(B) STTIBUONRIDI
(C) STTIBUDIONRI
(D) RISTTIBUDION
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How many 9’s are there in the following
number series, which are immediately
preceded by 3 and followed by 6 ?
39693939396363956956939639
(A) 3 (B) 2

(C) 4 (D) None of these

Raj and Roy start walking in opposite
directions. Raj walked 3 km and Roy
walked 4 km. Then Raj turned right and
walked 4 km and Roy turned left and
walked 3 km. How far is each from the
starting point ?
(A) 4.5km
(C) 5km

(B) 6km
(D) 8 km

Five children are sitting in a row. S is
sitting next to P but not T. K is sitting
next to R who is sitting on the extreme
left and T is not sitting next to K. Who
are sitting adjacentto S ?

(A) KandP (B) RandP
(C) Only P (D) Pand T

Today is Wednesday, what will be the
day after 94 days ?

(A) Monday (B) Tuesday
(C) Wednesday (D) Sunday

In the following number series, how many
8’s are there which are immediately
preceded by a number which does not
divide it, but followed by a number which
divides it ?
28283858853282384715838286
(A) 1 (B) 2

(C) 3 (D) 4

77.

78.

79.

80.

Six persons are sitting in a circle
facing the centre of the circle. Parikh is
between Babitha and Narendra. Asha
is between Chitra and Pankaj. Chitra is
to the immediate left of Babitha. Who is
to the immediate right of Babitha ?

(A) Parikh (B) Pankaj
(C) Narendra (D) Chitra

Three of the following four are alike in a
certain way and so form a group. Which
is one that does not belong to the group ?

(A) Aluminium
(C) Mercury

(B) Copper
(D) Zinc

If, P x Q means P is the father of Q

P — Q means P is the sister of Q

P + Q means P is the mother of Q

P + Q means P is the brother of Q
Then, which of the following represents
‘J is the son of F'.

(A) J+R-TxF

(B) J+R-TxF

(C) J+M-NxF

(D) None of these

How many such pairs of letters are there
in the word INSTRUCTION which have
as many letters between them in the
word as in the English alphabet ?

(A) one (B) two

(C) three (D) four
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frefafas gem g@en 4 @ fead 9 &
S qid 981 3 3 qia 18 6 AT @
39693939396363956956939639
(A) 3 (B) 2

(C) 4 (D) T ¥ IS T
T 7R T foudia fesmen & =em 3
217w 3 ferft ofi 3T 4 ot =) i T
aTd gear @ ofR 4 ot = @ of U
a1t g 3 feprt =reren 1 3 emifiv fiig
H oy fohad g 2 7

(A) 4.5 fet (B) 6 et

(C) 5 Tt (D) 8 feredt

U & Uk Ufad H A3 E| S, P A A A3 B
g T 78 | K, R | 377 31 @ St 9
A WAST R 3R T, K 3 31 781 331| F1
ST IEANSIR 7

(A) KAmjaP (B) RAmja P
(C) Fad P (D) P3RT

¥ §UaR 21 94 =i & amg #H-wn faa
B ?

(A) TWER (B) HTeER

(C) T (D) Team
Frfafaa g seen ¥ fhaa 8 8 o
T Tee U 9 ® 5 39 fanfara @
famfsa i 2 |
28283858853282384715838286
(A) 1 (B) 2

(C) 3 (D) 4

A i

78.

79.

80.
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B: Ao g i 3T J@ e U g 8§ 93
| TiftE Feltan 7R Ti5 & off= 8 | 3mm
o of st & oftmr 9 2| foan st &
@ a1 2| ST F A S HA S ¢

(A) wif@ (B) U

(C) Tz (D) femn
Frafafas = o @ = ot s ol &
TH S & 3N T THER T GYE S B
FI-T1 & S 30 T8 © Heitard T8 ¢ 7
(A) et

(B) @&

(C) 9m

(D) ST

IEPxQFEAL R P, Q% fumr )
P-Q#E age P, Q Hla& 2l
P+Q#F 342 P, Q Tl 2|

P+Q#F 32 P, QI WS 2

dt freafafeg i@ P i J, FF g
27

(A) J+-R-TxF

B) J+R-TxF

(C) J-M-NxF

(D) ¥ & =g T

INSTRUCTION 755 ® 37&R] o foha=t I
2 fomer offe o 3aa & 1em 2 foe ofrsh
U | B 7
(A) T

(C) @

(B) =
(D) =1
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iii) Arithmetical and Numerical Ability

If 2% - 2%1 = 4 then (x — 1)* =
(A) 27
B) 9

(C) 8

(D) none of these

2n+1 4 2n--1

Value of ]
2n +2n+2

neNis

1
A ¢ ®

1

(C) 2 (D) none of these

A lab assistant has a solution of 50%
acid and other which has 25% acid. How
much of them respectively be added to
make a 10 litres of 40% acid solution ?

(A) 6lis, 4 its
(B) 5its,51lts
(C) 3its, 7 lts
(D) none of these

Mr. Hero gets Rs. 48,000 after getting
an increase of 20% in his salary. His
original salary is

(A) Rs. 45,000
(B) Rs. 43,000
(C) Rs. 40,000
(D) None of these

85.

86.

87.

88.

How much interest will Rs. 9,000 earn
in eight months at an annual rate of
interest of 5% ?

(A) 200 (B) 500

(C) 300 (D) 100

The average score of 20 girls is 60%
and average score of 30 boys is 70%,
the combined average score of girls and

boys together is
(A) 66% (B) 64%

(C) 65% (D) none of these

When 3 coins are tossed, the probability
that they all fall tail is

(A) (B)

Wl [~
Wi =

(C) (D)

If the sum of n terms of an arithmetic
series is 2n2 — n, then the second term
of the series is

(A) 5
(B) 6
(C) 7

(D) none of these
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iii) 3RO Ud WEATeN AT

M X - 21 =47 (x - 1)X =
(A) 27 (B) 9
(C) 8 (D) ¥ & w1 T
Egiilj:i%i:l, ne NSTHHE 2
2n+2n+2
1 1
(A 3 ® -
©) % (D) FHARETE
Uk YA HeEa & I 50% 370 il

forerem € 3R ga0 25% 3 &1 faeA
21 39 2 B TH 40% I faerEa w5
10 ofiex s9H & foe et wen o foremn
S ?

(A) 6, 4 e

(B) 5wer, 5t

(C) 3R, 7 &

(D) THIHE T

I d 20% it gfg F e ot &0 ==
%. 48,000 fireTd 8| 3%k 7t A 2

(A) %. 45,000
(B) . 43,000
(C) =.40,000
(D) T & IS T

85.

86.

87.

88.

. 9,000  fou 5% a1t =31 A 318

T i fehaa st e 7
(A) 200 (B) 500
(C) 300 (D) 100

20 wiefwal & 3ga 3% 60% & 3N
30 TSFI & T 3HF 70% & | TZH AR

wefFat & v Ty oftua 7% 2
(A) 66% " (B) 64%
(C) 65% (D) 99 & 1g &l

S 3 Tl = IsTen S &, ot ot &

foren fewan @71 i wrfreran 2
1
™ < ® 3
1 2
© 3 © 3

7fe we wHia $ft % n 98 F1 A 2n2 - n
2, 4 avft =1 fgda we 2

(A) 5

B) 6

©) 7

(D) ¥ @ HE T
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In an examination paper, 1 mark is
awarded for every correct answer
while % mark is deducted for every
wrong answer. A student answered
120 questions and got 90 marks. The
number of questions he answered
correctly is

(A) 69
(C) 50

(B) 96

(D) none of these

Select the odd one in the series
13, 26, 39, 52, 65, 79, 91.

(A) 26

(B) 52

(C) 79

(D) none of these

In a triangle ABC, A = x°, B = (3x — 2)°,

C =y° and C - B = 9°, then the largest
angle in the triangle is

(A) A (B) B
) C (D) All of these

Two numbers are in the ratio of 5: 7 and
their sum is 36. Find the numbers.

(A) 10and 11
(C) 15and 21

(B) 16and 18
(D) 20 and 25

23.24=7
(A) 128 (B) 112
(C) 150 (D) 120

94.

95.

96.

a7.

1
If x+—=a then x2+i=
X x2

(A) a2
(B) a2+ 2
(C) a2-2

(D) none of these

How much money should be invested
to get an annual income of Rs. 420 at
7% per annum simple interest ?

(A) Rs. 6,000

(B) Rs. 6,400

(C) Rs. 5,580

(D) Rs. 5,000

A watch is sold for Rs. 150, at a profit
of 25%. At what price should it be sold
in order to have 50% profit ?

(A) Rs. 175

(B) Rs. 180

(C) Rs. 200

(D) None of these

AE I, M, Q,?
(A) O
(B) P
(C) U
(D) V
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U ghe H, Yo el S % o v o
foam < @ i@ fob wedies e IR F R
Va 31 #12 fomn sen 21w faeneff 3
120 w1 = 3 e 3t 90 37w fahu |
36 ot ot vl = 3 o

(A) 69 (B) 96

(C) 50 (D) THHFE T
e ¥ fid il g |

13, 26, 39, 52, 65, 79, 91

(A) 26

(B) 52

(C) 79

(D) 8 & IE et

T e ABCH, A=x°, B =(3x - 2),
C=y 3R C-B =9, a fiys ¥ ge@
e H0 B

(A) A
(C) C

(B) B
(D) I g+

2l FEATST F1 I 5 : 7 2 AR 37H
F 36 2| TEIT 719 L

(A) 10311 (B) 163f 18
(C) 15321 (D) 20325
2.24=17

(A) 128 B) 112

(C) 150 (D) 120

94.

95.

96.

97.
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AR x+load ey Lo
X

X

(A) a? (B) a%+2

(C) a2-2 (D) T & =g T2

7% Ffd a8 & YW SIS 9T E, 420 Fi
TN 3T I A & e fnat afr =1
a8 ?

(A) %. 6,000

(B) %. 6,400

(C) %.5,580

(D) %. 5,000

25% T W TF FEt 150 . ° o= TS
50% @19 &g I e goar ww ot S
Tfe of ? '

(A) . 175

(B) %. 180

(C) ¥.200

(D) ¥ & IS el

AE, LM Q,?
(A) O
B) P
(C) U
(D) V
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98.

99.

100.

101.

If 1 is a zero of the polynomial
p(a) = x°a® - 3xa + 3x— 1,then the
values of x are

(A) 1,1
(B) -1, -1
©) 1.1
(D) 0, 1

The average age of 12 boys is 8 years.
Another boy 21 years old joins the
group. The average of the new group
is

(A) 9.5yrs
(B) 9yrs
(C) 85yrs

(D) none of these

The recurring decimal 2.7777.... can be
expressed as

24 22
A 5 ® =
(©) %6 () =5

The sum of a two digit number and the
number formed by reversing the order
of digits is 154. If the two digits differ by
4, the number will be

(A) 62 or26

(B) 95o0r59
(C) 84o0r42
(D) none of these

102.

103.

104.

105.

If in a right angled triangle, one acute
angle is double the other, then the
angles of the triangle are

(A) 45°, 45° 90°

(B) 45°, 60°, 75°

(C) 30°, 60°, 90°

(D) none of these

If (25)190 = (25x)50 then x =

(A) 25 (B) 5
2F
(C) 1 (D) 9
% 7
Value of (_‘@] 2,{ 9 ]éxg =
9 343
(A) 1
B) V3
(C) 33
3
© 575

If twice the son’s age (in years) is added
to father's age (in years) the sum is 70.
But if twice the father's age is added to
the son’s age, the sum is 95. The age of
the father is

(A) 50 yrs
(B) 45yrs
(C) 40yrs
(D) 42 yrs



98.

99.

100.

101.
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Ife 1 959 p(a) = x2a2 - 3xa + 3x - 1
%1 UF I 8, T X T4 8

(A) 1,1
(B) —1,-1
(C) -1,1
(D) 0,1

12 A hi 37ad g 8 99 81 21 T4 &
UF Tl U # wfve B ® | 70 g
i 377y Y 3o B

(A) 9.53
(B) 99
(C) 8574
(D) T8 | s e
Tadl GIHed 2.7777.... 0 F ®Y
T Afirerer for s g 2 |
(ay =2 | 22
9 9
© 2 o 3
Ush 1 37ehi h! GEAT 31T 37%h1 o1 3HH F2e

% 18 WIS AT AN 154 B) A @At
3t T 4 1 R 2, A T 2R

(A) 6279126

(B) 953159

(C) 847142

(D) T | =g T

102.

103.

104.

105.
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afe v T Fre #, T =20 Fio e
PR, @ B F w0 E

(A) 45°, 45° 90°

(B) 45°, 60°, 75°

(C) 30°, 60°, 90°

(D) 39 4 IS TR

Tfe (25)100 = (25x)50 @t x =
(A) 25 B) 5

) 1 D)
(E}%,{i}%xgmm%
9 3J3

(A) 1

(B) V3

(€ 33

3

D) o973

ARG g (antH ) A e omg
(a1 & ) 7 sirs e st &, 913w 70 e
21 af faen 6 oy =1 3 G Ay
# Sire fen san 2, & 3 95 w1man ) fan
it g 2

(A) 5099

(B) 4538

(C) 408

(D) 4239
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106.

107.

108.

109.
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Value of sin30°. cosec30°. tan45° is
(A) 1
(B) -1
(C) 2

© 5

The students of two classes are in the
ratio 5 : 7. If 10 students are left from
each class, the remaining students are
in the ratio of 2 : 3, then the number of
students in each class is

(A) 30, 40
(B) 25,35
(C) 100, 140
(D) 50, 70

A bag contains 94 coins of 50 paise
and 25 paise denominations. If the
total worth of these coins be Rs. 29.75.
The number of coins of 50 paise and
25 paise are respectively

(A) 25,69 (B) 69,25

(C) 60,34 (D) 34,60

A man borrows Rs. 1,000 and agrees
to repay with a total of Rs. 140 in
12 installments, each installment being
less than the immediately preceding
one by Rs. 10. What should be his first
installment ?

(A) Rs. 100
(B) Rs. 110
(C) Rs. 150
(D) none of these

110.

111.

132,

A0 00 A 0

The area of a rectangular plot is 55mZ2.
The length of the plot (in meters) is
one more than twice its breadth. The
length and breadth of the plot are
respectively.

(A) 11,5
B 6,11
(C) 1,55

(D) none of these

If a sum of Rs. 4,830 has to be divided
among 3 persons A, Band C insuch a
way that ratio of A’s share to B’s share
is4:5and B'stoC's shareis 9 : 16,
then the share of B is

(A) Rs. 1,350
(B) Rs. 475
(C) Rs.1,530
(D) None of these

When a clock is showing the time as
1.05 p.m., what will be the angle between
the hours-hand and the minutes-hand
of the clock ?

(A) 0°
(B) 1°

10
(C) 25

(D) 3°



106.

107.

108.

109.
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sin30°. cosec30° . tand5° &1 A &
(A) 1

(B) —1

(C) 2

© 5

21 agedi & faaneff 5. 7% o A £
afe 10 forndi st Fan @ B fRusma €,
areht % farenfdat &1 e 2 : 3 & S
2, @ v e # faenfiai f g 2

(A) 30,40
(B) 25,35
(C) 100, 140
(D) 50,70

T AT T 50 B9 37 25 99 & 94 fua B

fe 37 el o1 T qeu ®. 29.75 71,
50 T 371X 25 99 = faani it o T
2t

(A) 25,69
(C) 60,34

(B) 69, 25
(D) 34,60

T gfaa %, 1,000 IR AdT 2 3N
12 fopdt © 5. 140 & 91Y 999 FLAT 2
e weies forva st et @5, 100
Bt 2 | I5ht yeel forva =R oft ?

(A) %. 100
(B) % 110
(C) ®. 150
(D) 98 & HIE T

110.

4 o

112.
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Tsh SATIATRR Wiie 31 &6e 55m2 8| wife
i s (diet ) Iaeh e FenH A U
i B wAle i TS TR AISTS FAI: B
(A) 11,5

(B) 5,11

() 1,55

(D) T8 T FrE T

afe %. 4,830 = TR &I 3 =ATFAT A, B
3t ¢ fervriore 58 wehm fofn sman 2 fo
A T & B % 9T 373U 4 ¢ 5 3 B
% 9T ¥ C % 9T 1 A 9 : 16 7, I
B T 91T 2

(A) ¥ 1,350

(B) ®.475

(C) %. 1,530

(D) T @ g T

e U U2l 1.05 p.m. @ 2, @9 9@
TS i grod-ge o7k ey S T as |
H1o1 BT 7

(A) 0°

B) 1°
10

(C) 25

(D) 3°
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113. The LCM of 2 numbers is 36 and their

114.

115.

116.
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HCF is 6. If one number is 18, then the
other is

(A) 2
(B) 12
(C) 14

(D) none of these

Sum 0f7+10%+14...84 IS
(A) 1004
(B) 1046.5
(C) 2087

(D) none of these

In how many ways can one select
distinct 4 numbers from the set of
numbers 1,5,7, 3,97

(A) 4
(B) 5
(C) 10

(D) none of these

The common difference of an A.P.
(Arithmetic Progression), whose first
term is 5 and the 11 term is 25, is

(A) —2
(B) 3
(C) 2
(D) 1

117. In how many years, a sum of money

118.

119.

120.

triples itself at 8% p.a. simple interest ?
(A) 25 years

(B) 37.5years

(C) 30 years

(D) none of these

Mr. A can do a job in 8 days, Mr. B
can do it in 5 days. The number of
days required for A and B if they work
together to complete the same job is

40
(A) 3days (B) Edays
13
(C) 4—0days (D) 13 days

What must be added to each term of the
ratio 49 : 68 so that it becomes 3:4 ?

(A) 3
B) 5
©) 8

(D) none of these

The number of ways 5 girls be seated
on a bench is

(A) 5

(B) 10
(C) 15
(D) 120



113. I G311 1 oiEY ? 36 3 ogu 6 8| 3fe

114.

115.

116.
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U GEI1 18 B, M@ RN ?
(A) 2 (B) 12

(C) 14 (D) 378 @ =g T

7+10%+14...a4 1A B
(A) 1004

(B) 1046.5

(C) 2087

(D) ¥ & HiE T

et sr # 18 1, 5, 7, 3, 9 wEASH
& TH=A § | 1S = i genet w9
AT B

(A) 4

(B) 5

(C) 10

(D) FH & #r 7e

U FHTA ST 1 A 3T, e awen
w511 Easd

(A) -2

B) 3

(C) 2

(D) 1

117.

118.

119.

120.
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e ast #, 8% ufd a¥ & Tumor sar
W UF TR & Al R ?

(A) 2599

(B) 37.574

(C) 3034

(D) ¥ 4§ I TE

ot A T F1 1 8 A1 #, ot B 38 5 &

o F G 2l A 31 B IR v Tg 1w #5i
1, 36 FE W FHA o el an 2

(A) 3f@= (B) %ﬁa
13
(C) 4—01%: (D) 13f=

49 : 68 JTITA & T T8 H 1 ST T,
S a8 3: 48 T ?

(A) 3
B) 5
() 8
(D) ¥ & FiE e

U " W 5 ST i3 =1 foras afiet & Semn
ST HFHar 2 ¢

(A) 5

(B) 10
(C) 15
(D) 120
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iv) Hindi Language and Comprehension
2=t v s
121. S0 afor g0 =ye 7 foran st A 128. 3 o9 @ G AT |
(A) wrgfd (B) ®& (A) FEafEm  (B) g B
(C) fe=da (D) & FiS T © i (D) TR R
122, ‘U’ 1 ACHH Y6E B L
(A) TeaREE (B) TFH 129. T e ot AT 1 Bt 7
(C) 3sifwam (D) @Y™ (A) TEH (B) T&SH
123. ‘Arcnfavare’ § g ? (©) T (D) g
(A) ®Ham@  (B) SgHfe 130, @& I R |
(C) e L B (A) =TS T 90 @ |
124. ‘u=r1’ w1 gHETeS e ® (B) Sfiu =afaRt o0 MU |
(A) FT (8) () Prasgadaia |
(C) e (D) T (D) ¥erd: T8 T TR B |
125. %Bmagq?—mm%ahm:agamﬁugaﬂ 131, reFa F ¥ gwe v fed |
(A) ¥ (B) B (A) Fuga=s (B) wwHaEw
(C) & (D) ST (C) Frmrd® (D) e
126. T o VR @1ele iR wed S we fomen | 132, fimm v |
gﬁﬂﬁﬁ@ﬁ?ﬁ@m, FEed %) T 1) srea
|
(A) 37574 (B) suat ) DR
(C) e (D) ©fY ) I )
o Iv) foma
127. foem fifsw | q)m = )*ar
F) Tk ) gu] |y
@) foem DERICE: T e Y
) 1) = wf By W il sclE
H) 3W WMEGEEIS (C) IV 1] | I
®F @ W @y v
(A) Il R VAT
®m v 183, & a1 o 91
) | v (A) SIE (B) T
(D) IV I [ (C) & (D) FI2 Tl
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134. HEFd & W vise 92 a0 <A -wr-i 143. forg a1 § svads frmm 2 7

T;gﬁ%,_ﬁamﬁmﬁl (A) T @ T R |

©) (D) fre (B) M v for@an |

i . (C) dia et & |
135. W91 T 3182

X i e (D) T HA FIA B |

(C) 3 (D) srRIgt 144. HH-91 Y58 ‘&g &1 FiaETE 2 ?
136. %Y~ 58 TH F1 G o9 (A) e (B) T

(A) amEAT-91R I 79 F 1 () =4 (D) =TT

(B) hat-hell

(C) wwdi-gg 145. fiem v |

(D) St =gest &) AR |) de8 TeIEy
137. ‘Seemen’ yee ? @) WETR II) HAIEH TIET

(A) TG (B) i ) S II1) Srfero deres

(C) swfirE (B ) gavE IV) FYET e
138. S ¥ 291 a1 8 ® @ W 6

(A) Fqare (B) wHaT=A A1 nom oW

(©) B R @ m v
139. ‘mél’ e ¥ ©m 1 now

(A) foeet (B) =i ©n w1

(C) 3mma (D) Ty
10, SRR e 146. ‘S8 gow1 79 & I Wﬁ.ﬁlﬂ?ﬁ%

(A) IR (B) fawm=di (A) Tores @y 21 34t &1 g o

(C) fam (D) Fefia (B) St fra¥ o 21 38 78 fireran 2
141, B9 # SoM Al et (C) e ¥ HIS F9 HEAT

(A) T EmEll  (B) FHMS (D) S gitgan 37 € 3= Treft

(C) I=heT3 (D) wfiem

e . 147, EH-310 W12 I &1 T o1ef 2
142. =1 faeim wrs2

@) (B} i (A) yaw-fmE (B) R - ey

(C) =R (D) foam (C) wrem-velt (D) etars- HIeAH

-31-
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148. [T A1 M TR E |
(A) TreaT=s
(B) s=STaTEH
(C) H<EaT=F
(D) HehaaTdh

149. SEFI Iy
(A) IR (B) IT=IUH

(C) gum (D) T

150. ‘TE wee H wfy 2
(A) T&l + & (B) ATET + &
(C) F&T+ & (D) T+ &

151. SRAz=nasngs
(A) 31 (B) "=
(C) &1y (D) &t
152. 394 fordhe @t |
(A) T T
(B) 90 Sfchred
(C) wfery vehTed
(D) A& sfdehTed
153. ‘anfrar vrse w fy - I8 2
(A) A+ 3 (B) 9T +3W
(C) T + 33 (D) 3IFT + 3

154. ‘ggq 1374 ?
(A) I8 T 3 B aren
(B) &I F=o1
(C) T i T=31 TR FTell
(D) THT i T AT

-32-

155.

156.

157.

158.

159.

160.

Hel + HATHT = HETeHT
(A) =R ufy (B) < @ty
(C) T E Y (D) Fafurafa

‘Toraer sy for man &Y
(A) STl (B) 3T
(C) ™ (D) I

‘qreur 1 foei wee ®
(A) Feea (B) Fi%ra
(C) sfieam (D) fasge

YT T Y w1 faus B
(A) T 3R TH

(B) UM % IR

(C) = =1 TIH

(D) =T = FqT

AT 4 e T w1 A o vy
&1 forg @

(A) HH FH

(B) 3Ir=RuT e

(C) 0T &

(D) el FHF

‘g’ w1 Ei-foede FH-w R 7
(A) 9§ + 3 (B) W + 3
(C) T +3 (D) © +3M
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v) English Lapguage and Comprehension
3 e iRy

Choose the correct antonym of the word
underlined in each sentence from the
alternatives given below it.

161. Variety is the spice of life, but
is the essence of life.

(A) diversity

(B) multifariousness

(C) assortment

(D) uniformity

162. Accuracy in calculations is necessary to

build a robot as will result
in failure.

(A) veracity

(B) precision
(C) inaccuracy
(D)

non-accuracy

163. Is this herb native to India, or is it

?
(A) indigenous
(B) aboriginal
(C) imported
(D) exported

Read the following sentences and identify
grammatical errors, if any, select the letter

corresponding to the erroneous parts as your
answer.

164. If | was you /I would/not have accepted/
(A) (B) ©)
the proposal.
(D)

-33-

165. Thorough knowledge of /Mathematics as
(A) (B)
well as English/are very important for you/
©€)
to do this course well.
(D)

166. While l/iwas in Bombay/l was playing golf/

(A) (B) (C)
every week.
(D)

167. He just/entered/the class when/

(A) (B) (C)
the bell rang.
(D)

168. My brother is/not at home/

(A) (B)
he has gone/out in the morning.

(C) (D)

169. Some primitive societies/are believing
(A) (B)
that/heavenly bodies are/divine beings.
(©) (D)
170. He hadn't/prepared well/while he passed/
(A) (B) (©)
with distinction.
(D)
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171.  The patents filed by Indians/ were much
(A) (B)
less than that/filed by the people of /
©)
developing countries.

(D)

172. | cannot enter/the stadium unless/

(A) (B)
| do not have/ a special pass.
(C) (D)

Fill in the blanks with suitable articles from

among the choices given below them.

173. | know gentleman standing

there.
(A) a
(B) an
(C) the

(D) none of these

174. Thecowis domestic animal.
(A) a
(B) an
(C) the

(D) no article required

175. How can you expect ass

to behave like a horse ?
(A) a

(B) an

(C) the

(D) none of these

Which of the options A, B, C and D given below

should replace the underlined phrase in the
following sentences to make the sentence
grammatically correct ?

176. Poverty and property disputes are the
main two causes that can cause families
to disintegrate.

(A) the two main causes
(B) the main causes
(C) the two causes

(D) the causes

177. The lastnews reported from Iraq s certainly
not encouraging with the death toll in

yesterday’s sectarian violence rising to 36.

(A) the latest news reported
(B) the newest news reported
(C) the recent news reported

(D) none of these



178.

179.

Add suitable question tags to the foliowing

One of the most success use of plastic
film in agriculture is mulching which
means covering the soil around the
plant.

(A)
(B)
(C)
(D)

one of the most success use of

one of the most success useful of
one of the most successful uses of
one of the most succeeded uses of

Drink much quantities of water and seek
medical attention immediately.

(A) drink many quantities
(B) drink huge quantities
(C) drink major quantities
(D) drink large quantities

statements.
180. They shall be here any moment, £
(A) Canl

181.
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(B) Shan't they
(C) Could]
(D) Shalll

We must watch what we speak ,
?

(A) must we
(B) isn'tit

(C) mustn't we
(D) won't we

182.
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Nothing came by post, ?
(A) didn’t it

(B) did it

(C) isit

(D) weren't it

In each question given below pickout the wrongly

spelt words from among the choices.

183.

184.

(A)
(B)
(©)
(D)

pronounciation
noticeable
desirable

anoint

(A) grammar

(B) drunkenness
(C)

(D)

parallel

consciense

Replace the underlined part with the appropriate

idiom from the given options.

185.

This scientist is a very enthusiastic man
who is ready to get his hands dirty with
every new project.

(A)

give support to somebody in a
difficult situation

(B) to be skilful at making things with
your hands

(©)
(D)

to do physical work
to become controlled by somebody
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186.

187.

If you want to solve the problem once
and for all you must be prepared to take
the bull by the horns.

(A)

be the most important part of
something

(B)

face a difficult/dangerous situation
directly and with courage

(C) make something a permanent part

of a larger structure

(D) act or move in a rough or awkward

manner

The government was rapped over
the knuckles for remaining a silent

spectator when the communal clashes
flared up.

(A) received appreciation
(B) criticized strongly
(C) manipulated the situation

(D) none of these

Fill in the blanks with appropriate prepositions

from among the choices given below them.

188.

The little boy hid
(A) behind

the barn.

(B) over
(C) ahead
(D) for

189.

190.

He was caught the devil

and the deep sea.
(A)
(B)
(C)
(D)

among
across
into

between

He lived in a room

(A) above

mine.

(B) towards
(C) amid

(D) across

Fill in the blanks from the given choices.

191.

192.

The Supreme Court is higher than any
court of justice in India.

A) more

Z

other
lower

D) middle

—_— e
O
S

A large mountain range passes through
the center of Taiwan and is
one of the oldest natural formations on
the earth.

(A) that
(B) it

(C) so
(D) as
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Fill in the blank in each sentence with the
appropriate word/phrase.
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197. Highly pleasant to the taste.

193. He was hesitant to propose as he felt
he was not worthy her.
(A) to (B) in
(C) of (D) with

194. My mother has advised me to guard my
cash box thieves.
(A) against (B) for
(C) with (D) at

195. By refusing to take the qualifying test,

you have thrown

agolden
chance. -
(A)

(B)
(C)

aside
away
up
(D) in

Give one word substitutes for the following.

196.

37-

Troubled and uneasy in mind.
(A) rumble

(B) anxious

(C) bast

(D) tenement

(A) delicious
(B) devour

(C) mighty

(D) dart

Choose the correct synonym of the word
underlined in each sentence from the
alternatives given below it.

198.

199.

200.

People are haunted by the disasters of
the last rain season.

(A) displaced
(B) vacated

(C) surrendered
(D) troubled

He inhabited a big house.
(A) occupy

(B) vacated

(C) surrendered

(D) lived

| wonder when the rains will cease.
(A) start
(B) stop
(€)
(D)

continue

spread
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I HTE & fore T

-38-



-39-

PR 0 000000 0

SPACE FOR ROUGH WORK
T &1 & foru o

MKG-XXVI/GENDMHT/O?



MKG-XXVI/GENDM/1T/07
IMPORTANT INSTRUCTIONS TO CANDIDATES

Ffieami % fore wevargut s

13. This booklet contains 40 pages.

14

15:

3

18.

19.

. Directions . Each question or incomplete

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be biackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method || Wrong Method

Corract Meth:
OR®00QI0OLO0I0®0O0|I0e0 0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14,

15.

16.

17.

18.

19.

0100 O A

38 qfeae 1 40 U9 2|

&9 : 3% y9a e T=E A FYT & ;g
IR IT 32E [F HIA g T E | Tede gmn
% 37! forelt weh ot g R S 9w # 9 I
S YFT FHF Bl T HL 37 ATYHT I 9B A
IR MASR @H A, B, C I1 D i it 1 Frem
AI-Uig< U1 | FHen (@) FE 2 | (gResntim
Iufieat & fou @wa memsn fafus gm
e fewan ww)

S S % B 3d 39 @ e e 3T

W for@ | 3w+ fa 8 v B fameifa & |
Freifra 0 1w wfem 9= fer mr 2

O®800|0V00I0®00|CO800

Fereff &1 HI I AHIES HI =R & I
fafem o =feu |

Wl YO T hael Teh & WEl I & | S9!
Tgfed e 3 A, B, C a1 D & MR @H
Fl BT (@) FET & | Afe 379 fhelt wva & ama
TF ¥ s MR @ w9 (@) a9
IR TAd T SR |

Ife Reeft woa % fodt a3 areme o @8
3 B A1 IS A H A HE THIT S |

Fed H14 % AU Shad T99 73§ for 7 wum w5
AN | I i W Fee T R

70 Gfte o 3t Ukl IR sifha Tl A E |
I Fad TR abEm H @ E)

Go through instructions given in Page No. 1 (Facing Page)
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